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clat 19,480,006 7,203,509 12,276,497
Al 6,834,000
- 12,646,006
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2)5t= 80,000 2814 2,240
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NRSUHBR) 1,80021+90L*1CH* 1228 1,944
IDESPIPN=FSAess, 60,0002 *3CH* 122 2,160
DAIRIEESREIINSRE S+ALBEHE
60,0003 20 *22] 2,400
1)Z=88 TV SRt Sal
44,0003 122 528
NES0D 28 2XHIE
300,000 x 12 3,600
203 =8| 4,115 4,115
03 A=A PR FX| 4,115 4,115
NEY:EXHS Fo 2g3
615,000& 615
NF=EXe(E A=A E 23
1,500,000& 1,500
NEYFEX t&58s =
2,000,000 2,000
204 MR A 14,700 14,700
02 S3E =3l 14,700 14,700
NSYEFEXES ARIESHAIIH(0F=S)
RSyl
50,0002 *(35A1 2H/40A1 2+)x28H * 12 14,700
303 Za= 8,640 8,640
01 Za= 8,640 8,640
NEYFINHS Za3
80,0002+ * 12 8,640
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01 AlZH| 149,520 42,000 107,520
NEYFEXES 0TV 0l2H B A)
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203 HR=AH] 1,000 1,000
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1,000,000& 1,000
303 Zal= 25,650 25,650
01 Za= 25,650 25,650
NAEE MEUEHE 2 T2 25,650
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22X & 85,000, 0002 *3% 2,550
2)3XE < Ol&t 427,000,000 *5% 21,350
TS 2xeiE 2| 45,194 57,936 N12,742
203 24 1,710 1,710 0
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NFEIS X012 PRFA
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AIAR A 187,200 235,200 A48,000
307 212+01 A 187,200 235,200 48,000
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NEAZRISE =X 2elA 3,788,061
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01 SAt - SHA2HEEZ 862,075 205,163 656,912
NEAZEISE =3 2elAre 862,075
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EXHAEN Y OFM 22| AEH AN S AIE
200,000,000& 200,000
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401 AlZHIZL SO 670,476 300,000 370,476
01 Al&H| 670,476 300,000 370,476
NBIEFINE LSAE FAUES
300,000,000 300,000
NI=7T SSFUHE HAEsEIIES
370,476,000 370,476
oSNNS HE SSFIUHY 2HE 11,066,000 2,000 11,064,000
Al 6,624,000
- 4,442,000
203 HR=H] 2,000 2,000
03 A=A RN 2,000 2,000
NBYERE AL YR
2,000,000& 2,000
401 AIEHIX 20 11,064,000 0 11,064,000
Al 6,624,000
- 4,440,000
01 AlZ8| 11,064,000 0 11,064,000
1EX 24 6,500,000,000& 6,500,000
Al 3,900,000
- 2,600,000
NEN 82 L HAILH 2]
2,000,000,000& 2,000,000
Al 1,200,000
- 800,000
1JIEH L2l S) 2,564,000,000& 2,564,000
Al 1,524,000
- 1,040,000
AE 2 ZHI 1,091,604 1,065,546 26,058
QA2 (FUHESESIA) 1,078,004 1,046,386 31,618
QIS 2| (FXt2elnt) 1,078,004 1,046,386 31,618
101 @1A4H| 1,078,004 1,046,386 31,618
02 JIEtAE = 1,078,004 1,046,386 31,618
NEYFIXHS AMESHMAIIM(0IS, 35
Al2H) 1,026,554
2)E3 1,900,000& x28E «12& 638,400
2= 70,0002 x28EH « 12 23,520
R=nijei ==
50, 178,000 «6%+28 % x(35A1 2 /40AI 2+)*1.03
75,975
2SR E 145,920 x28EH « 128 49,030
2)H UG A 140,000 x28EH « 12& 47,040
2)AItE ]
1,900,000 +0.84+0.86%1/30%1/7+126 Al 2t+28FH
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9,860 *30 Al 2+x28H «12& %1.03 102,371
Q=2ER 959,393, 1002 +7.0% 67,158
DAIRHIE DM (0lS) AE2 2]
175,0002 *(35A1 2H/40A| 2+) x28H * 12 51,450
JI2ZHI(=XHEEESI) 13,600 19,160 A5,560
JlEZddl(=xt2elt) 13,600 19,160 A5,560
201 er23| 12,600 12,680 A80
01 At2t2ltl 12,600 12,680 A80
NAIRESH 10,0003 x24 & *43] 960
NEAD X2kl 100,000 *2CH*4=] 800
1WA X 2e) 100, 000& »2CH*23] 400
1N=E&0 EUIERIX
250,000 x35+43] 3,000
1)=801 SItERIX
300,000 x4 5+43] 4,800
1S AEXI (M) 20,0002 84 K+ 122 1,920
124N =X EPMNIE
60,0003 x225+62] 720
405 AHaHE = 1,000 0 1,000
01 AL =S F=HI 1,000 0 1,000

NEM MEDI 1,000,000 *1CH 1,000




